LA

HIGH PERFORMANCE LIGHTING

=Y

-

¥

S Lozar

Bl I Easac

4-WAY RALLY POD

FOR CARBON-6 (GEN3)

ASSEMBLY INSTRUCTIONS



PAGE 1 OF 2

PARTS

1: M6 PENNY WASHER

1: M6 X 16 HEX BOLT
2: M6 SPLIT LOCK WASHER
3: M6 PENNY WASHER

RECOMMENDED TIGHTENING TORQUE FOR
M6 BOLTS: 5NM

STEP 3. (FINE ADJUSTMENT)

PARTS

1:M4 SPRING

2:M4 WASHER

3:M4 CROSS DOWEL



PAGE 2 OF 2

STEP 4. (FINE ADJUSTMENT)

PARTS

1: M4 LARGE WASHER

STEP 5. (FINE ADJUSTMENT)

PARTS

1: M4 SOCKET HEAD BOLT




_MZCrrQ

HIGH PERFORMANCE LIGHTING

WWW.LAZERLAMPS.COM

+44(0)1992 677374
sales@lazerlamps.com

Lazer Lamps Ltd, Units 1&2 Harlow Mill Business Centre,
Riverway, Harlow, Essex. CM20 2FD. United Kingdom

A
[\

s MADE IN THE UK [LAZERLAMPS [LAZERLAMPS

AN
v,



